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SARDAR PATEL UNIVERSITY
F.Y B.Sc. { SEMESTER -1 ) EXAMINATION
SUBJECT ; GENERAL CHEMISTRY - I, US02CCHES]
- DATE : 25/04/2022 CTIME : 12:00P.M. TO 2:00P:M.
DAY : MONDAY TOTAL MARKS : 70 -
NOTE: 1. ALL QUESTIONS ARE TO BE ATTEMPTED.
2. FIGURES TO THE RIGHT INDICATE FULL MARKS.
ANSWER THE FOLOWING MULTIPLE CHOICE QUESTIONS [10}

Which type of bond is present in organic compound 7
(a) lonic (b) Covalent {c) Co-ordinate {d) Dative
The atom or a group of atom have tendency to accept a pair of eleciron is called ......... .
{a) Nucleophile (b) Electrophile {c) Benzonium ion (d) Free radical
In H, molecule which type of combinations of atomic orbitals take place ?
() 5:p (b) 505 () p-p (d} pd |
Which pair of ions has planar triangle geomeltry 7 '
(a) BF;” & NHy (b) N3” & NOy' (c) C0y* & NOj (d) None of these
In PCls molecule due to three P-Cl bonds in the same plane, angle between them is ....... .
(a) 120° (b) 90° (©)45° (d) 186° |
The melting point of XeFy is ............ .
(a) 250°C (b} 100°C (c) 400°C () 129°C
Nobel gases have ........ tendency to form bonds. ~
{a) Zero " (b) None of these  (c) little (d) more

Which of the following is a Chelate ?
(a) [CrCla(en);NOs]  (b) K[MnQ4} (c) Ku[Fe(CN)o} (d) [Ag(NH;)-}JOH
For a chemical reaction, the concentration of reactants and products on atiaining an
equilibrium state becomes ............... .
{a) Zero (b) Equal (¢} constant () None of these
The unit of rate constant of a zeto order reactionis ............ .
(@) Se¢”! (b) litmole” (c) hir® Mole ” Sec’ (d) Mole ! See!

FILL IN THE BLANKS SELECTING THE APPROPRIATE OPTION GIVENIN THE {08}
BRACKET :
Nucleophiles are ...... ... [Lewis acid / Lewis base]

In alkyl halides the carbon atom attached to falogen has ... hybrization [SP* /7 SP

Bond order of CN moleculeis ........... 2.1 42.5]

H>O molecule shape is ............ { Bent / pyramidal}
Nobel gases have ........ electron affinity than any other elements . [ zero / High]

Triethylene tetramine Nitrilo triacetate (?\‘TA]'3 I ligand.[Bidentate /Tetradentate]

The rate constant of a reaction is only affected by........ [Temperature / Catalyst]

Minimum amount of energy required to cause a chemical reaction iscalled, ...........
[ Chemical energy / Activation energy}
SHORT QUESTIONS (ATTEMPT ANY TEN ) - {20]
Give the difference between Syl and Sy2 reaction.
Definc ; Benzyne
What is hemolytic and heterolytic reaction ?
What are Isoelectronic species ? Give suitable example.
State the general rule for trigonal bipyramid structure.
{P.T.0]
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State the octate rule,

Give electronic.configuration of Noble gases ,
Define : Ambidentate ligand oo
Give the IUPAC name of followiiig complexes : (i) [P Py)s [PCCLY (ny Y (en):Ch]

Define the terms : (i) Mechanism of the reaction (ii) Rate constant

Write inechanism and rate law of the reaction : 2NQ; + Fr = INOF )

Write the correct Arrhenius equaiion . Give the meaning of each term involved in it.

LONG QUESTIONS (ATTEMPT ANY FOUR ¥ [32]
Write all the possible isomeric structural formula and IUPAC name for the compound having
molecular formula C;H,,Br. _

Complete the following reaction and give detail stepwise mechanism for it |

then H,0

O-Fluroanisole + Phenyilithium ?

Using VSEPR theory , Chlorine trifluoride (CIF;) has distorted trigonal bipyramidal shape ,
while [;" (Triiodide ion ) has linear shape, '

Describe moiecular orbital treatment of (1} Nz molecule (ii) CO" molecule
Give the preparation , properties and bonding in XeF;.

What are Chelates ? Give classification and uses of Chelates . Co
What is integrated rate law ? Derive integrated rate law expression for second order reaction,
Give its characteristics and unit. _

The decomposition of N2Os in CC ls solution follows the first order rate law. The rate constant
of the reaction is 6.2 X 107 min™' at 45°C Caiculate the time for {1) the reaction to decrease the
concentration of N,Os from 0.02M to 0.005M and (i) for 25% completion reaction,
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ot : 1. ofdl YAl Y s2ciell B.
2. ol cuegetl wisst Ayl ot eeda B, _
ol Aot cigfe urieollott yHletl et 2 - (20

stolRls ool s ysRell oit Qla B? '

(@) WAES (b) usdleys (c) AAlueUws (d) Elcil (Detive)
2ot ot il BAsEotoll AL eellstzasll g SA B Adt ........ sdaud B,

(a). $eR__ 2cjaolity) éuﬁmga{oﬂ (0) AoTAR2AM BiRlet (d) H5et HEls
H, gl 52 Ysieoll ueﬂuzg'chu seidle] Al WA B 2

 @sp B)ss@pp@pd
wiielell 56 AL wrcer Adg ¢ 87

" (a) BF,' ¥l NH,' (b)N," %8l NO,” {c) CO,2 el NOy' (d) widfl B odl
PCl, UHQML s % AMdel AgL P-Cloiud 5120, Adefl el yel........ B .
(a) 120° (b) 90° (c) 45° (d) 180° S ' -

. XeF, of Aetlelg ............. B, .

(2) 250°C (b) 100°C (c) 400°C (d) 129°C

GuEL czgRAul ol otsttctaolt g B.
@y - il Y a8l (¢ m'?g'
ofAouniell 59 B &2 ‘ .
(@) [CrCl(en),NOs] () K[MnO,] (c) KalFe(CN)e} (d) [Ag(NHi),JOH

@) deyx

@yl w2, ddest wHd yEas ua Pyt ofl Wkcll v aa 8.

(a) Yot (B) Ulot (o) AN (d) At A otel

goet s¥toll YBAUL HE A0 AUAAEA DU 1.vvvvrrvrrsone Au d.
(2) Sec” () lit mole™ (c) i* Mole  Sec™ (d) Mole fit! Sec -
Sl e Ao Rseu wdie 58 vell gl ald- - s
SAasglot AgAMN.....ovecene 5. D. AR ARs / AR Q)

s 2t sl 2ot WA AsAc sl P ... WS B ®. [sP/sP]

N Rl ot sMis.......... B, [24.725]

SROET T EPTE S J— B. [ Aoz / RAMsA] . _ -
Guel Lyl SAsRet oiyell clataciol o o et SRl ... QAD [geAl/AUR]
E o - [P.TO] -
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ASEAA 2a0uet ASREAl ARe (NTAY*A ........ @otes B.[eutdede 2a322 1
uba eell Aucis i ..... SR el Rt B.[dnnus /Ghus
AR Y W o3dl Gl oxpotctag ol . sdelial D,

[ai@s Qo / uBasey Qe

g5t usll (Blefun £ ol Yy 53):- | [20]
Snt ol $x2 UGl A2 etslad W,
AR A 5 Rospel .
BRRAs u RBeA@As uBal g 37
WA {eleroll(species) g 87 Ao Getsrg W,
Aaela st llaMse GLEIRQL M@ Ao Plan g,
sl [Aaiu orud,
GHEL Ay ol SASRS douet U,
vABld 5Q: AEAZ2 @105 (Ambidentate ligand)
ollAett UGG dalredott 1UPAC ottt ], @) [P'®y)}s PECLY (1) INI™ (en),Cl]2

- cURld 52 : () uBael gl (i) QoL wuas
- YBUell Ul A gell Qe el 2N0, + F, =2NOF.
- Y Ry s el Aui wile 635 goed we A,

ctlol Yl (Bleugl el yaur 53 o . [32]
CsHnBr UQYA ticlelt Hellovat 2ol sl ity AHLeRoll UG YA MA TUPAC sUlY
avlt . : - '

20l YBat ygl 53 AR Aett 1S Rotctee atci et ygld .
O-Fluroanisole + Phenylithium then H,0 ? |

VSEPR flladled Guailoy 549, sAlRet goslA8s (CIF,) A 52 [Agd Bz
oSt ®, w1, (gtaﬁsws taiot) wllel w52 4Aa B,

(DN, Q) (i) CO* ugell wiecler sats Rtz agdl, ‘

XeF, ol wettele | ol wa ol wil, |

(BA2(Chetate ) 4§ B2 B2 {Chelate } of co{ls20l wa, Gualoy wadl

AUslAct QLA R R2Q g 7 Bellat siell YBaadl 2islAd Qo e dtedl. Aol
CAte@sdlal U Ay 21N . i _ .
CCl, st N.O; of Rezel Y suoq Qatett R A U B, 45°C U2 YRl £2
AN 6.2 X 10 BB B. () uBay wid NO; ol alisictt 0.02M 50l 0.005M 3¢l datsal
2 AR (i) 25% yBa ud el sl 52,




